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Subject : GE_Q01-Q20_JA02MARSH2
Question ID:- 1

Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Inasmall cottage in a Japanese village there once lived an old man named Hagamuchi with
his family. The cottage stood on the top of a low hill overlooking the sea. Hagamuchi was
alone with his grandson. The rest of the family had gone to the town at the foot of the hill to
make merry with their friends on the festival day.

2. Suddenly Hagamuchi thought that he noticed something about the sea. The sea had been
rough all day long, but now the water seemed lower than usual. At last, he saw in the
distance a great tide coming swiftly towards the land. He called to the people below but they
were 50 busy enjoying themselves that no one heard his voice. Suddenly a thought struck
him. He set fire to the thatched roof of his own cottage. His purpose was served.

3.  Atonce, the temple bell was rung below the hill. People left their merry making. Within a
few minutes, there came leaping a great roaring wave and it destroyed the whole town,
Only the people who flocked to save the old man and his grandson from the fire were saved.
These people felt so grateful to Hagamuchi that they built a temple in his memory.

Where was Hagamuchi’s cottage located ?
(1) bottom of the high hill

(2) top of a low hill

(3) bottom of the low hill

(4) foot of the hill

Options:-

.1, OptionID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Inasmall cottage in a Japanese village there once lived an old man named Hagamuchi with
his family. The cottage stood on the top of a low hill overlooking the sea. Hagamuchi was
alone with his grandson. The rest of the family had gone to the town at the foot of the hill to
make merry with their friends on the festival day.

2. Suddenly Hagamuchi thought that he noticed something about the sea. The sea had been
rough all day long, but now the water seemed lower than usual. At last, he saw in the
distance a great tide coming swiftly towards the land. He called to the people below but they
were so busy enjoying themselves that no one heard his voice. Suddenly a thought struck
him. He set fire to the thatched roof of his own cottage. His purpose was served.

3. At once, the temple bell was rung below the hill. People left their merry making. Within a
few minutes, there came leaping a great roaring wave and it destroyed the whole town.
Only the people who flocked to save the old man and his grandson from the fire were saved.
These people felt so grateful to Hagamuchi that they built a temple in his memory.

How did Hagamuchi inform the villagers of the impending disaster ?
1)  burnt the thatched roof of his cottage

(

(2) rang the temple bell below the hill

(3) loudly called the people below

(4) sent his grandson to the town
Options:-

.1, Option ID :- 5,
« 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3
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Read the passage given below and choose the most appropriate option to answer the question

that follow :

1. Inasmall cottage in a Japanese village there once lived an old man named Hagamuchi with
his family. The cottage stood on the top of a low hill overlooking the sea. Hagamuchi was
alone with his grandson. The rest of the family had gone to the town at the foot of the hill to
make merry with their friends on the festival day.

2. Suddenly Hagamuchi thought that he noticed something about the sea. The sea had been
rough all day long, but now the water seemed lower than usual. At last, he saw in the
distance a great tide coming swiftly towards the land. He called to the people below but they
were so0 busy enjoying themselves that no one heard his voice. Suddenly a thought struck
him. He set fire to the thatched roof of his own cottage. His purpose was served.

3. At once, the temple bell was rung below the hill. People left their merry making. Within a
few minutes, there came leaping a great roaring wave and it destroyed the whole town.
Only the people who flocked to save the old man and his grandson from the fire were saved.
These people felt so grateful to Hagamuchi that they built a temple in his memory.

Read the following statements :
(A) Hagamuchi's entire family had gone to the town.
(B) Hagamuchi's family had gone to celebrate the festival.

1) Both (A) and (B) are correct

) Both (A) and (B) are incorrect
(A) is correct, but (B) is incorrect

J

3

4) (B) is correct, but (A) is incorrect

,_\,_\,—.\,—..\_
S

Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 4, Option ID : -12

Question ID:- 4
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Inasmall cottage in a Japanese village there once lived an old man named Hagamuchi with
his family. The cottage stood on the top of a low hill overlooking the sea. Hagamuchi was
alone with his grandson. The rest of the family had gone to the town at the foot of the hill to
make merry with their friends on the festival day.

2. Suddenly Hagamuchi thought that he noticed something about the sea. The sea had been
rough all day long, but now the water seemed lower than usual. At last, he saw in the
distance a great tide coming swiftly towards the land. He called to the people below but they
were so busy enjoying themselves that no one heard his voice. Suddenly a thought struck
him. He set fire to the thatched roof of his own cottage. His purpose was served.

3. At once, the temple bell was rung below the hill. People left their merry making. Within a
few minutes, there came leaping a great roaring wave and it destroyed the whole town.
Only the people who flocked to save the old man and his grandson from the fire were saved.
These people felt so grateful to Hagamuchi that they built a temple in his memory.

‘His purpose was served’. What was Hagamuchi’s purpose ?

(1) to ring the temple bell at the bottom of the hill
(2) to set fire to the roof of his cottage
(3) to warn people of the danger from the sea
(4) to stop the merriment and celebration
Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
« 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5
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Read the passage given below and choose the most appropriate option to answer the question

that follow :

1.  Inasmall cottage in a Japanese village there once lived an old man named Hagamuchi with
his family. The cottage stood on the top of a low hill overlooking the sea. Hagamuchi was
alone with his grandson. The rest of the family had gone to the town at the foot of the hill to
make merry with their friends on the festival day.

2.  Suddenly Hagamuchi thought that he noticed something about the sea. The sea had been
rough all day long, but now the water seemed lower than usual. At last, he saw in the
distance a great tide coming swiftly towards the land. He called to the people below but they
were so busy enjoying themselves that no one heard his voice. Suddenly a thought struck
him. He set fire to the thatched roof of his own cottage. His purpose was served.

3. At once, the temple bell was rung below the hill. People left their merry making. Within a
few minutes, there came leaping a great roaring wave and it destroyed the whole town.
Only the people who flocked to save the old man and his grandson from the fire were saved.
These people felt so grateful to Hagamuchi that they built a temple in his memory.

Who built a temple in the memory of Hagamuchi ?
(1) all the grateful people of the Japanese village
(2) his family who were celebrating with friends

(3) people who went to town for merry making

(4) people who came to save Hagamuchi and his grandson
Options:-

.1, Option ID :- 17,

. 2, Option ID :- 18,

. 3, Option ID :- 19,

- 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6

Fill in the blank with the most appropriate phrasal verb :

The police the crowd with batons and tear gas shells.
(1) waded into

(2) waded through
(3) waded out

(4) waded for
Options:-

.1, Option ID :- 21,

« 2, Option ID :- 22,

« 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7
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Insert the most suitable articles in the blanks given :

Will you go to hospital to see patient.
(1) a, the

(2) the, the

(3) a, a

(4) the, a
Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 2, Option ID : -26

Question ID:- 8

Select the word which is oppostie in meaning to the word in capital letters :
RANDOM

(1) genuine
(2) deliberate
(3) hidden
(4) systematic

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Select among the four alternatives, the word closest in meaning to the word given in capital letters :

CORDIAL

(1) apologetic

(2) friendly

(3) hostile

(4) Dbenign
Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10
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Which of the following should you bring to a ‘veterinarian” ?
(1) your cat

(2) your bicycle

(3) your sick friend

(4) your gadgets

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Question ID:- 11

Choose the correct meaning for this idiom :

“to play second fiddle’.

(1) to be treated as less important than somebody
(2) to play a musical instrument

(3) to support the role and view of another person
(4)  to be happy and cheerful

Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Complete the sentence with the appropriate pair of prepositions :

We came the room and jumped the swimming pool.
(1) out of, into

(2) out in
(3) out, nto
(4) out of, in
Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 1, Option ID : -45

Question ID:- 13
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Next week, she is going to Surat with a view to ___ a seminar.
(1) attending

(2) attend

(3) attended

(4) will attend

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Complete the sentence with the most appropriate form of the verb :

Question ID:- 14

The superlative form of the adjective ‘popular’ is :

(1) more popular

(2) very popular

(3) popularity

(4) most popular
Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

Choose the best option that completes the sentence correctly :

Some people write the address on the envelope so
delivered.

(D
(2) smoothly
(3)  intriguingly
(4) correctly

ille gib ly

Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

that it's a wonder whether it gets

Question ID:- 16
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The underlined words in the sentence are which parts of speech ?

The most pressing need is to bestow the precious gift of education on special children and let them
be the bearer of torch towards the path of progress.

(1) adjective, conjunction
(2) adjective, preposition
(3) verb, preposition

(4) verb, adverb

Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

Identify the part/parts of the sentence that is/are incorrect :

Although there is no direct evidence / that salt is a cause of high blood pressure or hypertension,
@ (b)
/ there are studies which indicate that / reducing salt intake lower blood pressure .
© (d)
both (a) and (d)
both (c) and (d)
both (a) and (c)
only (d)

e e— —
LI N
e M S St

4

Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

Choose the correct word / words from the given options and complete the sentence meaningfully :

Yesterday, while | to school, 1 saw a terrible accident.
(1) went

(2) was going

(3) had gone

(4) had been going

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71
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Question ID:- 19

Select the word with the correct spelling :
(1) benifitted

(2)  benifited

(3) benefitted

(4)  benefited

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 4, Option ID : -76

Question ID:- 20

The plural form of the personal pronoun ‘my’ is :

(1) our
(2) we
(3) wus
(4) me
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GH_Q21-Q40 _JA02MARSH2

Question ID:- 21

et fou wTener ot ugst waw stad fasea &1 == ity

79 & [rAifsr yoft 1 SHiet g9 e i STavashdl Ul § | HA wedl ¥ o st dmel § wa
ST ¥ T U A SR ST T S T 1 SRR €1 Ug 2 TRt ol i st e e
TET Ug Wehd | g9 & U F ST HAT AT, = 7 Rt of o o5 wer i

HI¥ TH qmof 21
(1) wuifHes

(2) HEISEHR

(3) iR

(4) s
Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,
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. 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

et fou wenyr i ugst wan sfaq fasea &1 == St
79 g9 graifers yoft €1 safer g8 #E w1 sravasd Ul § | A Fedl & 5 s gl | wa
ST ¥ T TS A SR ST T S T 1 SRR €1 UG 2 TRt b1 i st s e

TaT UgH Hehd | B o HH G HA A6y, =1 o el off o qrer &
TR o ST BH -

(1) = 9" &1 gt wWowedi # favas @ =nfee

(2) XYY I ACHAM HEA AT
(3) B HH T G FA A6

(4)  ©H 1 UG HT ATEl Sl HATIR HHT 91T

Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

e feu envr it uget we Sfua fasme @t =em Sifag

70 Ta WAt WO § | 3Hfen g8 i i SERashal ISl ¢ | FET el § o e dmed § wa
ST HH 1 YTeH i ST 2TOHT T ST i a1 SR & | g 2y foet a1 vIiftes sreman vameTe &
TET TE= el | & e U Rl AT HAAT Ao, =18 &9 Rt oft o 1 e w0

TH PN FH HI A T ¢ 2

(1) 379 &4 %1 Yo L hi

(2) AT T AfveEE H hi
(3) ot =t simeTcH e UgAH i
(4) AH ¥d 7 foavar W@ w
Options:-

.1, Option ID :- 89,

« 2, Option ID :- 90,

. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24
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el fou TT=neT i Ugeht Wad Stud faehea &t === Sty

79 e graiferr yoft | safen g9 w1 i Sravasdl USdl § | A Fedl & 5 s @l | wa
ST 9H 1 T i SR ST T e i o1 STfeRR €1 9g Y foredt ol omiifier steran e e
TET ugen TR | T & U AR HA e, = o R off wel o arer w1

T % STER FA &6 SaAa al ol & i =1 & ST off T F 2|
(1) < Hfea
(2) g
(3) =T
(4) HFEEFA
Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
. 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25

et fau TenyT @t ugeRt wew sfua fasen &1 =@ FifaT

T 99 GrHIfeeh WOl € | SHeTe 3 S ol SeRdehal USdl & | T Hedl ¢ (o ST HHsl H we
ST 7 T ITE A SR ST T S R 1 SRR €1 g oY fRE o srifin steren weres w
& TEH TRl | g B HH 1 A HT TMfey, TR oW frd ot e w e

TH HA I SAETIRT F IS © 2

(1) T =1 IR = ugen & fag

(2) iR &W HrIfSR g €

(3) THU H WEARHS FE e & fau
(4) AT T THU W G % feg
Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26
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‘Ot T qATET e § -
(1) Hd

(2) g

(3) A

(4) wfh

Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27

‘T e Y T §2
(1) w4

(2) WHdH

(3) WAL

(4) Hfqe

Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
« 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 28

‘weteHa T wiy-fasd R 2
(1) ¥+ =a

(2) WEM + Ida

(3) el + SeEd

(4) W+ 34
Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29
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fefafad § a0 o i € ?
(1) 7=

(2) TRH

(3) 99

(4) g
Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

Trefafed | deve e S 82
(1) =&

(2) =

(3) ®fesh

(4 =@
Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Question ID:- 31

Frefafed | aorg - Teya F1 TS TA T T -

(1) S - 33

(2) BF - Tl

(3) wHE - HMH

(4 T -qu
Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32
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‘et TR e &1 foa e foa @ )
SR T SR B

(1) 3941
(2) ®TF
(3) e
(4) FHSR
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
« 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

Frefefiad § Shfer e T8 & -
(1) @@

(2) e

(3)

(4) TEH

Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

frefafad # gfecit e 76§ -
(1) =&
(2) =fen
(3) &
(4) TR
Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
« 3, Option ID :- 135,

. 4, Option ID :- 136,
Answer Given:- 4, Option ID : -136

Question ID:- 35
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‘T’ & wETE e © -
(1) =Ied, a1iE, Sl
(2) =G, SR, aTehst
(3) TR, 3T, AG
(4) SR, ARG, TSR

Options:-

.1, Option ID :- 137,
. 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 1, Option ID : -137

Question ID:- 36

‘i 7 &’ % fow gerew @ -

(1) HTS A=t Tl

(2)  SATHHE Rl

(3)

(4) o€ HRA
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,

« 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

‘TH-9- 7 B HEe oY © -
(1) THR HT ST
(2) ST 9 W fek W@
(3) WSl A HEA

(4 @R

Options:-

.1, Option ID :- 145,

« 2, Option ID :- 146,

. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 38
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Frfafas # 35 a9 € -

(1) & i@l ¥ o1y 5% faet |
(2) g d sfima SgeR om
(3) efEr gre-et HH e ?
(4) oTfER gra- LT HY = ?

Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152

Question ID:- 39

“BR’ ] T Tga=H 9 € -
(1) =
(2) =
(3) =
(4 =&
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40

el vIeg 1 IEROT E -
(1) e
(2) @]
(3) wd
(49 Us
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
« 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : GK_Q41-Q60_JA02MARSH2

Question ID:- 41
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Which of the following statement/s is/are correct ?

(A) Article 269 of the Constitution of India empowers the Govenment of India to collect the
Goods and services Tax in course of inter-state trade and commerce.

(B) The amount apportioned to a state under the Goods and Services Tax shall form part of the
Consolidated Fund of India.

Select the correct answer using the code given below :
(1) (A)only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

Freafafaa § @ #F o1 e 98 § 2

(A) G % HfauH 1 58 269 MRT YR i SF<R-T59 TR 1 J1fves & 9 8 g% o) a1
A T HT THFHR 1 B

(B) o] Ua ¥a1 &L & ded TRl T o1 efafed ufir swird ot dfea fafe o1 fewm grit

= fou gu e 1 TAM Hh HEl S TIT B

(1) e (A)

(2) % (B)

(3) (A) 3R (B) S

4) (A) 3R (B) & & ¥ &

Options:-

.1, Option ID :- 161,
. 2, Option ID :- 162,
. 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42

As per Article 1 of the Constitution of India, India is :

(1) a federal state

(2) a confederation of states

(3) a union of states

(4) a confederation of states and union territorries ( UT’s)

R o HfHM % T8 1 % STTER, YA
(1) T Hery T &

(2) U=l U uREE

(3) THI H Uk HET

(4) Tl AR FE-WTET YT 1 Tk 9 €
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Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

List - I (Acts)

(1)  Forest Rights Act

(2) Right to Information Act

(3) Protection of Women from
Domestic Violence Act

(4) Scheduled Caste and Scheduled
Tribes (Prevention) of Atrocities Act

frefafad § 9 %1 91 7m0 gifad 7@ 82
T - 1
(A )
(1) =F-3ifusRr AfufEm =
(2) e fEm 9 wfeen dem sifaf=m -
(3) g I sfusRR sifufram -

() gl sfa AR erEfEd sEef
(TR fHamm) S

Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 4, Option ID : -172

Which of the following pairs is incorrectly matched ?

List - II (Year)
. 2006
. 2005

- 2007

- 1989

(=)
2006
2007
2005

1989

Question ID:- 44
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(A)

(B)

(D
(2)
(3)
(4)

Which of the following statement/s is/are not correct ?

Select the correct answer using the code given below :

(1) (A) only

(2) (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

Freafafed & | S 3wy T8 76 8 2

(A) 9Ra % Hfaer = qed, R ary/faan, st urd &1 i 8, i weer € R 3 ot Jam A 9
H 3131E 94 I 1Y & == a0 1 SFIHL qgH

(B) A % WfaHM % FT=E 51 A % Ted, W & & ARG # I Hifess wued ¢ o a7 1= &t

i foU U e w1 AN Hlh Fal I H T

Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
. 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Under the Constitution of India, it is a fundamental duty of a parent, who is a citizen of
India, to provide opportunities for education to his child between the age of six and eighteen
years.

Under the Constitution of India, Article 51 A, it is the duty of every citizen of India to respect
the National Song.

T HL |

FAA (A)

Faa (B)

(A) ST (B) =Tl

(A) 3R (B) H § #rE =&l

(A)
(B)

(1)
)

O3 BN L
S

(
(
(4)

Question ID:- 45

Which of the following statement/s is/are correct ?

Select the correct answer using the code given below :

In 1946, The Cabinet Mission had recommended a loose three-tier confederation for India.
The Cabinet Mission had recommended a strong Central Government with all residual powers.

(A) only

(B) only

Both (A) and (B)
Neither (A) nor (B)
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Freafafad § 9 &M o1 %y 98 §?

(A) 1946 T FHfee favm 7 wra % fau w o=ten BH-wd ufids ot o7 i off |

(B) iz faem 3 us wvreR Fita TRRR i ereian o off, fras oy weft safire wifswmEr €
=l U 7T e 1 JART Lk Fel I H AT H

(1) FaE (A)

(2) e (B)

(3) (A) ¥R (B) EFl

(4) (A) 3R (B) H | =l T
Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46

Acccording to religious beliefs of Sanskritic Puranic traditions, who among the follwoing is held as
brother of Lord Jagannatha ?

(1) Narasimha

(2) Vamana
(3) Balarama
(4) Kalki

G- el sl aifie srensti & sER, fafafaa d 9 fe sram sy &1 9TE gue §i § 2
(1) -fEE

(2) A
(3) EERH
(4) HrHRI

Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

Question ID:- 47
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Which of the following pairs is incorrectly matched ?

List - I List - I

(Historical event) (Year)
(1) Peasant Movement in Bardoli : 1928
(2) Second Round Table conference - 1931
(3) Mahatma Gandhi's visit to Noakhali 1946
(4) Rowlatt Satyagraha : 1921
frefafad § 9 %H w1 g9 gifad 78 82

-1 -

( Ufcrafies @) (ad)
(1) g o foram sficem . 1928
(2) fadra Meoms g 1931
(3)  TIRTCHI TITEft 1 TSTECA YH ¢ 1946
(4) el TR : 1921

Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48

As per census 2011, which of the following Union Territories of India is smallest in terms of area ?
(1) Puducherry

(2) Lakshadweep

(3) Chandigarh

(4) Daman and Diu

(1) T

(2) @eTEM
(3) e
(4) <A 3R <A
Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,
. 4, Option ID :- 192,
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Answer Given:- 4, Option ID : -192

Question ID:- 49

Which of the following statement/s is/are not correct ?
(A) Tropical cyclones are intense high-pressure areas.
(B) Tropical cyclones are also called hurricane.

Select the correct answer using the code given below :
(1) (A) only

(2) (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

Frefafad § @ = 3 #9798 78 22

(A) SwrERfEefia Terard I Se-qaE &3 € §
(B) Swafeasia wshard 1 s off g sran B
= fQU T e 1 YA Ik |l I R =TI W

(1) e (A)

(2) A (B)

(3) (A) ¥R (B) EF

4) (A) R (B) & & FE T
Options:-

.1, Option ID :- 193,
. 2, Option ID :- 194,
. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

Which of the following statement/s is/are correct ?

(A) State Bank of India was founded as Bank of Calcutta in 1806.
(B) State Bank of India became State - owned in 1969.

Select the correct answer using the code given below :

(1) (A) only

(2)  (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)
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Freafafad § 9 @ o1 e 98§72

(A) T2 d% 3TF e =) T 1806 H S A% Hershdl (i) & &4 H g3 off |
(B) e Ha i Sfean &1 w@ifie T2 7 1969 H 7= foram

= fqu TTU e 1 JANT HF Tet ITW B =TI W

(1) e (A)

(2) e (B)

(3) (A) ¥R (B) TF

(4) (A) ¥R (B) # & =K T

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 51

Which of the following pairs of deficits is known as “twin deficits’ ?
(1) Revenue deficit and capital account deficit

(2) Fiscal deficit and capital account deficit

(3) Fiscal deficit and current account deficit

(4) Revenue deficit and current account deficit

=rersdi % frefeafaa g § & fFd et s’ e s &2
(1)  TF= =12y 3R ISt ST =R

(2)  TSTRIET =T SR USi @ =
(3)  STERIEE =T SR =7e] Al =l
(4) TS =T iR =Te W SR
Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
. 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202

Question ID:- 52

What is the literal meaning of La’eeb, the official Mascot of FIFA-2022 ?
(1) Better together

(2) Harmonious world

(3) Life through sports

(4) Supreme skilled player
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FIFRI-2022 1 SAYERIF Yot &1'sa &1 wfecsh 314 #7017 2

(1) TH-H1Y FER

(2) -\ g

(3) el H S

(4) T FvA fEars
Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

What is the official soundtrack of FIFA-2022 ?
(1) Vaka Vaka

(2) Hayya Hayya

(3) Yaka Yaka

(4) Dona Dona

(1)  ©TehT SR

(2) BEMEE

(3) HTehl TRl

(4) EETEF
Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
« 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

National Science Day is celebrated in India to mark the invention of :
(1) Bose-Einstein statistics

(2) Raman effect

(3) Algebric geometry

(4) Satellite Launch Vehicle
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TR H 1o o feom forg fama & enfasrr & Sussd § v < & ?
(1) H-HEHIH HifeTht

(2) T 9AE
(3) SR ST
(4) SYUR WHYU AH

Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

Which of the following statement/s is/are correct about 5G wireless technology ?
(A) It is estimated to be 10 times faster than 4G.

(B) 4G wireless technology provides the foundation for 5G.

Select the correct answer using the code given below :

(1) (A) only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

5G AR Tl & 9 § feferrad | & #F | F9T Te 82
(A) THF 4G H 10 TN S G B H ATHA <

(B) 4G ArERe™ deHie 5G % foiu =g Yem i & |

1= T e 1 TAMT FHTeh Fel I h =9

(1) e (A)

(2) e (B)

(3) (A) &R (B) TH

(4) (A) ¥R (B) H & =IE e

Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Question ID:- 56
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Which of the following statement/s is/are correct ?

(A) Gitanjali Shree’s book, ‘Ret Samadhi” (Tomb of sand), is the first book written in any Indian
language to have won International Booker Prize-2022.

(B) Translator of this book into English is Daisy Dockwell.
Select the correct answer using the code given below :

(1) (A) only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

FreAfefaa & & =F o1 %ae e § 2

(A) Tidser =t w T, @ gy, e aRdE v § foret 18 veelt Tiaw €, e el g
YUEHR- 2022 Sl 7 |

(B) TH J&IF F TS STARH H A Sl Slhad ¢ |

i foU 7T e w1 GART Fh Wel 3T AT H

(1) e (A)

(2) A (B)

(3)  (A) 3T (B) aril

4) (A) 3R B) H T FE T

Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

« 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

Which of the following statement/s is/are correct with respect to Lachit Borphukan ?
(A) His 400t birth anniversary was celebrated on 24th November 2022,

(B) He defeated Mughals in the Battle of Saraighat, 1671.

Select the correct answer using the code given below :

(1)  (A) only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)
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A sRpeA % 9 # Frafafead § 9 o a1 w9 a8 82

(A) ST 400 = T 24 TSR 2022 F TR T

(B) 1671 H HIUEHIE i TR H @G s 5 Giell ohl TURd fehan o)
= fRU %2 1 99 T |l W H T HIGC

() (A

(2) & (B)

(3) (A) ¥R (B) <A

(4) (A) ¥R (B) HE HE T4

Options:-
.1, Option ID :- 225,

« 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

Consider the following statements :

(A) ‘Bharat Gaurav Trains” is a Union Government initiative under ‘Dekho Apna Desh’.
(B) The Ramayana circuit is not part of the Bharat Gaurav Trains.

Which of the above statement/s is/are correct ?

(1) (A) only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

frafafea woE w faar Fifau .
(A) “WRE TiRE A S o791 W' % qed s TN B UF 95 B |
(B) THmw Hithe ' Rd IR 24 i faww 7l €

TG | 9 B | FHUT HE T 7

(1) FEe (A)

(2) ad (B)

(3) (A) 3R (B) <F

(4) ( A) ¥R (B) H = off Tt
Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- Not Attempted

Question ID:- 59
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A parliamentary delegation from Zimbabwe met the President of India, Smt Draupadi Murmu, in
December 2022. Who of the following led the delegation ?

(1) President of Zimbabwe

(2) Prime Minister of Zimbabwe

(3) Vice-President of Zimbabwe

(4) Speaker of the Parliament of Zimbabwe

fegmaR-2022 # forame & e dwdE wfafify dea 7 vRa % gdfa, o Sroet g 9 qenea S
Trefeafed | 9 forem wiaff s &1 g o a1?

(1) Toame & ugafa

(2) TSwTe o guEHE

(3) Towame & 39 agufa

(4) Tomarel =1 H4E % A

Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60

‘Race to zero” is :
) An official Formula 1 fantasy game.
A global campaign for halving global emissions by 2030.

N p— . p——
I =
o —

3) Name of a new political party formed by Iranian women.
4)  Official mascot of Paris Olympic 2024.
TR

(1) T iR -1 Har

(2) 2030 T AfYaH IeESH FI S FH & fau uF Sfvas Afmm
(3) SU migensl g TfSd Wk U TSHITash qel AW

(4) TR i 2024 %1 STEEHREE Yot

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 1, Option ID : -237

Subject : LR_Q61-Q80_JA02MARSH2
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Question ID:- 61

Some of the numbers or letters are missing in the following number-letter series. They are given in
that order as one of the alternatives below it. Select the correct alternative :

M2GP_1 _7KV11__160

(1) 4,5 N,Y
(2) 4,5 MY
3) 4,5 M,Z
(4) 4,5 N,Z

frfafea gem - ar i § o Semd 1 27e) e | 9 39w ° A Tt fagey 1 feuw o ¥ we

fasweq &1 999 T
M2GP_1_7KV11__160
(1) 4S N Y

(2) 4S MY

(3) 4,5M,Z

(4 4,5 N,Z
Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62

Certain pair of words are given, out of which words in all pairs except one bear a common
relationship. Choose the odd pair.

(1) Fish : Aquarium
(2)  Shirt : Garment
(3) Pen : Stationery
(4) Cup : Crockery

vl % g g+ fou o € o | gt gl | foom s %, v g day €1 favg g o wmm

Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
. 3, Option ID :- 247,
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. 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

‘X" is the daughter of "Y', “Y” is the daughter of “Z" , “Z’ is the brother of ‘P" and ‘P’ is the mother of
‘Q. If ‘Q’ is male, how is ‘X’ related to 'Q" ?

(1) Sister
(2) Brother
(3) Niece
(4) Son

KEEYH, Y FNEZRZ MEEP FEARP I 'Q FAR'Q T T X, 'Q T HY

Heifed & :

(1) =

(2) o

(3) sl / Aisi
(4 TA
Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 3, Option ID : -251

Question ID:- 64

Find the wrong term from the following number series :
18, 25, 38, 47, 64, 61, 66, 55, 44

(1) 66

(2) 61

(3) 47

(4 64

freafafed sen 9oft § e 9g 71 FIfS
18, 25, 38, 47, 64, 61, 66, 55, 44
(1) 66

(2) 61

(3) 47

(4) 64
Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,
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. 4, Option ID :- 256,
Answer Given:- 1, Option ID : -253

Question ID:- 65

‘Lizard’ is related to ‘Reptile’ in the same way as ‘Ostrich’ is related to _?

(1) Amphibian
(2) Egg

(3) Bird

(4) Mammal

‘fousmdll, ‘Tiigy’ ¥ 3 yER Hafud € 59 ‘e defta® 2 9

(1) 3BYF=

(2 &=

(3) T

(4) TEYUR
Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 2, Option ID : -258

Question ID:- 66

In a certain code language ‘DRAW’ is written as ‘3965", “RAT" is written ‘835" and “TYRD’ is
written as ‘6578’. Then how will be ‘Y written in this code language ?

1y 7
2) 8
3) 5
(4) 6

fordll wh 2w H'DRAW’ =i 3965, foran Sl &, “RAT’ =i ‘835" IR ‘TYRD' &l ‘6578” feran a1 &
e 1Y’ %l ZH e/ Hehal wro H ford weRR feran s 2

1 7
(2) 8
3) 5
4) 6
Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264
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Question ID:- 67

Find the word which can not be formed by using the letters of the given word :
REMOVEABLE

(1) VERBAL
(2) REVEAL
(3) BLAMED
(49 MARBLE

9% I8 Fd wifery T feu U vieg & statdl &1 IUENT ek fomn A1 s gk
REMOVEABLE
(1) VERBAL
(2) REVEAL
(3) BLAMED
(4 MARBLE

Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68

A pair of numbers have a certain relationship to each other, select the pair in which the numbers
are similarly related to the given pair.

12 : 156
(1) 13 : 169
(2) 9:83

(3) 11:132
(4) 15:250

HEAl & Uk I o Uh gL § Uk FHivEd ey €1 39 g7 & 99 wifey Sed dead SH g 9

weiferd ¥ fomy yepm fow o o | &1
12 : 156

(1) 13:169

(2) 9:83

(3) 11:132

(4) 15:250

Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,
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« 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

If every alternate letter starting from B is deleted, from the English alphabet, which of the following
will be the third letter to the right of the middle letter in the new alphabet.

(1) E
2 G
3 S
4 U

SAUST aufaren §, I B YRY 1 & T TR 218R &1 feer fean s, a9 99 avigren 9 frfafaa §
T A T 2IeR, S A 38R F I G B2

(1) E
2 G
3) S
(4 U

Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 3, Option ID : -275

Question ID:- 70

The first two terms have a certain relationship, select the correct option which has the similar
relationship with the third term.

DARK : GXUH :: LIGHT : _?

(1) OFJEX
(2) OEJFW
(3) OFJEW
(4) NFJEV

gt o Uei § Uek fafvea gy €1 39 9l fashey &1 999 wifse fowen et ug & 91y 9919 Hae 8 |
DARK : GXUH :: LIGHT: _2_

(1) OFJEX
(2) OEJFW
(3) OFJEW
(4) NFJEV
Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
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« 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Question ID:- 71

Find the odd one out:

(1) Month
(2) Calendar
(3) Year
(4) Century
Freafafad § | forod @ Hifs
(1) =&
(2) Hevet
(3) @d
(4)  orreEl
Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

Choose the correct option to replace question mark (?) in the following number series.
8,9,24,27,40, 2 , 56,63

(1) 43
(2) 48
(3) 45
(4) 47

Frefafaa wen 4uit 1 g f9= (?) 1 gfaenfud e &t fasey = =24 e
8,9,24,27,40, _2 , 56, 63

(1) 43
(2) 48
(3) 45
(4) 47

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,
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. 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73

How many meaningful words can be formed by using the first, third, fourth and sixth letters of
the word "'NOODLES' using each letter only once in each word ?

(1) Three
(2) Two
(3) Omne
(4) Four

& ‘NOODLES' & 9gdl, fay, 919 21 @2 31aR 1 ST &tk UH forad 3190l wsg &1e 1 9 @,
58 Jeier 3181 %1 SYATT had Tk & a) vt T &1 2

(y
2 &
(3) ThH
(4 =R
Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289

Question ID:- 74

Anirudh is brother of Deepak, who is the son of Pulkit. Mayank is Pulkit's father. How is Anirudh
related to Mayank ?

(1) Brother

(2) Father
(3) Grandfather
(4) Grandson

freg o € G =, S yafed & 93 1 o, atea & o €1 afeg ves 3 fm yeer gefug €2

(1)

(2) foan

(3) SRI/AH

(4) O/ gaa
Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
. 3, Option ID :- 295,
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« 4, Option ID :- 296,
Answer Given:- 4, Option ID : -296

Question ID:- 75
In the following letter series some of the letters are misssing which are given in that order as one of
the alternatives below it. Select the correct alternative.

Pp_*rpqgq_p_rrp_qr
(1) rnqqp

(2 gr1pq
3 rnpaqr
(4) qr.qp

frfafed den 4uit H§ w2 s1er e €, S A fordt v fases § 36t on o faw o €| wEl fawmen @ wme
HifS |

PP_IrpPqQq_p_rrp_qr

() rgqp

(2) g9 rpq

3 rpgr

4 qr,qp
Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 4, Option ID : -300

Question ID:- 76

If 'STEADY’ is coded as 20-19-1-5-25-4 in a certain code language, then how will ‘REMAIN" be
written in this code language ?

(1) 5-18-13-1-14-9

(2) 5-18-1-13-14-9

(3) 18-5-1-13-14-9

(4) 5-18-1-13-9-14

Ife fordft ffe=m e/l s § ‘STEADY” &l 20-19-1-5-25-4 o =0 8, 7 5t e § ‘REMAIN
%! forg yerR feran smem ?

(1) 5-18-13-1-14-9

(2) 5-18-1-13-14-9

(3) 18-5-1-13-14-9

(4) 5-18-1-13-9-14

Options:-
.1, Option ID :- 301,
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« 2, Option ID :- 302,
« 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

Select the combination of the numbers so that the letters arranged accordingly will form a meaningful
word ;

N C€RI DY A O I T
1 2 3 4 5 6 7 8 9 10

(1) 8,754 21,98 10,6
2 5,4,210,971,863
(3) 5,4,2,10,9,8,1,7, 3,6
4) 5,4,2,10,89,7,1, 3,6

HEAEl o UH HAISH o1 99 il FSeeh ST7HR SHarl & sFafed ] W TH ALY 968 a4 |
N CRIDYAOTIT
1 2 3 45 6 7 8 910

(1) 38,%35 42,1,9.8,10,6

(2) 5,4,2, 109,711,865

(3) 5,4,2,10,9,8,1,7, 3,6

(4 5,4,2,10,89,7,1, 3,6
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78

Some groups of letters ae given, all of which except one share a common similarity, while one is
different. Find the odd one :

() JGDA
2) VSPM
3) NKGE

(
(
4 UROL
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el % % g feu e B, o v o faam 9sft v =1 e 9 6 €, safE v fim €)1 faum
ﬁarﬁ?ﬁﬁﬂl:

(1) JGDA
(2) VSPM
(3) NKGE
(4 UROL
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

A set of numbers is given with certain relationship. Choose the option which has the similar
relationship to the numbers in the given set.

(9, 72, 108)

(1) (11, 110, 1%2)
(2) (14, 112, 140)
(3) (13, 104, 156)
(4) (15, 130, 170)

et Tafera wae =1 gesii 1w wg=d foan 701 €1 3% faeey 1 977 ife fomd fau Tu = &
Hemsdi & 9aH, J94 2

(9, 72, 108)

(1) (11, 110, 132)
(2) (14, 112, 140)
(3) (13, 104, 156)
(4) (15, 130, 170)
Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80



https://applink.adda247.com/d/XhqWf9lSap

Adda247

In the following question two words have a certain relationship to each other. Select the correct
option which has the same relationship as the original pair of words.

Burglar : House : : Pirate : _ 2

(1) Sea
(2) Ship
(3) Sailor
(4) Crew

Frefafea wea 4 <1 vl &1 2w § ue ffved ey €1 39 wel fasrey =1 = i, e v=sl & ga

7 & YA B Gy 2 |

YR : W : EH?-?IE@ P
() 9492

(2)

(3) e

(4) FHHigA

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
« 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 1, Option ID : -317

Subject : CL_Q81-Q100_JA02MARSH2

Question ID:- 81

A computer system understands only a language consists of electric pulses or 0 and 1, which is
popularly known as :

(1) Digital language

(2) Binary language

(3) Instruction language
(4) Programming language

e e YOIt Sharel TE Sl |eedt 8, o faepa @it 21 an 0 3R 11 39 s 1 9 ) W R e
g7

(1) fefsesdt wm
(2) Y W
(3) swwE (fcw) wm
(4) SR ST
Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
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. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82

Which of the following groups of devices are only output devices ?
(1) Monitor, keyboard & mouse

(2) Printer, scanner & monitor

(3) Printer, speaker & microphone

(4) Monitor, printer & speaker

Frefafed § § 9 9 25 #1 908 Fae 9=eye 749 § 2
(1) TifR, FferE ik 7=y
(2) fiiex, @R iR Hifrex
(3) fiex, Tiet iR orgmIeE
(4) Hifre, faex siv e
Options:-
.1, Option ID :- 325,
. 2, Option ID :- 326,

. 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

In computer terminology, Mbps is one of the popular units of :
(1) Video quality

(2) Internet speed

(3) Printer speed

(4) Image resolution

(1) fafedr queen

(2) gewde Tfa

(3) fHex fa

(4) s faiea (fefegem)
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Fogey yEEe | U9 S 1 ug (Mbps) 79 4 R #1 diE s
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Question ID:- 84

In computers, Al stands for :
(1) Artificial Interface

(2) Abstract Interface

(3)  Artificial Intelligence

(4) Abstract Intelligence

HOP % el 1§ e (AL) P A9 T
(1) enfefrfme gethy

(2) TSR SIHY

(3) srfefRivEe gefersiy

(4) TERER RfesE
Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
. 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 3, Option ID : -335

Question ID:- 85

1000 (or 1024) Megabytes equals to :
(1) 1 Kilobyte
(2) 1 Gigabyte
(3) 1 Petabyte
(4) 1 Terabyte

1000 (&1 1024 ) H M =E2H foFgs ¥9F € 2

(1) 1 fwemEmE
(2) 1 ¥ATEEe
(3) 1 HIEEe
(4) 1 @RS
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86
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Which of the following is not an example of Operating System ?
(1) Apple i0S

(2) Adobe Acrobat

(3) Google Android

(4) Microsoft Windows

fr=fafed § 9 921 T YR &1 9= Yot & & 2

(1) Uwe ey

(2) TSI TR

(3) T UgEe

(4) TrERETR foErs
Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87

Which of the following software are generally used to design an audio-video animated multimedia
presentation ?

(1) Microsoft Word

(2) Microsoft Excel

(3) Microsoft Access

(4) Microsoft PowerPoint

frefafea § 9 fre Sreeer &1 7A tE -4 UfEEeE Aeemited Y il 9aR i & fau
W€ ?

(1) HEFRETRE T2

(2) HEHHTR THE

(3) HEHETR TFE

(4) TEHER TETEe
Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348

Question ID:- 88
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Google Chrome, Microsoft Edge and Mozilla Firefox are popular examples of :
(1) RDBMS

(2) Web Browsers

(3) Search Engines

(4) Programming Languages

TR BhHIH, AEHETR TS 3R Hifsen wehed a8 o fog fasea & drefig sem € 2
(1) SARSETATE (RDBMS)

(2) 99 S
(3) @H gSH
(4)  grnfEeT Yy
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89

To cut some selected text from one place and paste the same at some other place in the same
document, the most popular combination of short cut keys in most of the MS office applications
is:

1) Alt+c&Alt+v

2) Cul+c&Cul+v

3) Chl+x&Ctl+v

4) Alt+x & Alt+v

—

,—._,_\,—\,—..\_
S

THEE SffEE i Aty veltheE o 6 SisE eshe $sil & 30 8 U yord H =i fafea qe
%1 T TIF H FEH () TR WA | favwm (=) 5 & 2

(1) Alt+c & Alt+v

(2) Ctrltc & Ctrlt+v

(3) Ctrl+x & Chrl+v

(4) Alt+x & Alt+v

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90
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Which of the following does not come under cyber-crime under IT Act 2000 ?
(1) Distributing child pornography over internet

(2) Bullying someone over internet

(3) Stealing a brand new pen-drive from a stall

(

4) Creating fake social networking accounts of some other person without his/her consent

Freafafea § 4 @0 g drife afuf=m 2000 % 98d B - o790 &1 Foit § T8 o § 2
(1) = SIelta-amRl il $etie W oo

(2) TorEl 1 Setie T garfed &

(3) TUH WA ¥ TE-dell U9 Srzd gl

(4) st orem =t SR & T 399 W 9 e el |5 9¥ Sl Yrese S

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Question ID:- 91

Identify the type of network, when two departments of an organisation, stationed at different
rooms on the same floor of same building, are connected together through wired medium to share
some important data and information :

(1) LAN
(2) MAN
(3) PAN
(4) WAN

T SHRA % U 8 a1 W UF Hedql & o fasmn <1 ste Fad | fod € oiR meeyl Se1 SR g3 o ot
TR & o0 TH-gH 9 S[¢ §UE | T9 "ead & UgH FHife 2

(1) LAN
(2) MAN
(3) PAN
(4) WAN
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92
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Which of the following companies is not known for developing Antivirus software ?

(1) Oracle

(2) Norton
(3) McAfee
(4) Kaspersky

frafafed § 9 &F 9 F991 UEErE STRgER 98 o4l § 2

(1) s

(2) HEA

(3) HHUm

(4) FERTHE
Options:-

.1, Option ID :- 365,
. 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 2, Option ID : -366

Question ID:- 93

Which of the following is the least threat or source of virus entering your system ?
(1) An e-mail

(2) A printer

(3) A pen drive

(4) The computer network

fr=fafaa § @ 9 9 faseq =1 9rrg 1 99 24 i 999 F:9 e § 2

(1) E-Hd

(2) fe

(3) TR

(4) TR Teah
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94
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Which of the following is not a standard file extensions of an image file ?

D) jrg

(2) .png
(3) .wav
(4) .bmp

frfafaa § 9 70w fag ddtl (309) iEe &1 9FE WEe TaEeyH T8 6 7

(1) jprs
(2)  .png
(3) .wav
(4) .bmp
Options:-

.1, Option ID :- 373,
. 2, Option ID :- 374,
. 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

Question ID:- 95

Which of the following software is used for RDBMS ?
(1) MySQL

(2) Windows

(3) AutoCAD

(4) Photoshop

7H ¥ T4 TS %1 RDBMS (SREETATH) & o wim faan st € 2
(1) A TR (MySQL)

(2) TdE™ (Windows)

(3) SR T (AutoCAD)

(4) TRIZ1 ¥ (Photoshop)

Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
« 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96
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Which of the following is not an advantage of using Digital Signature ?
(1) Higher security

(2) Wide acceptance

(3) Legal compliance

(4) Keys can be lost or theft

frefafad § 9 @9 o1 fageq fefaee sxmer & 3wdm & @y &1 9ot 9 781 s ?

(1)  siferes gean

(2) =A9F HiIpfd

(3) I SrUTEr

(4) Hiorr (is1) & = IR 2 Tehedl ©
Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97

To make our password a strong one, which of the following suggestions we must not follow ?
(1) A combination of uppercase letters, lowercase letters, numbers, and symbols.

(2) Should be a dictionary word or a proper name.

(3) Shouldn’t contain a phone number of important date.

(4) Significantly different from your previous passwords.

R &H U HS(ed UHeE =M =R ©, o 84 30 9 fohe 9ol @l ured 78 e =fey ?
(1) =2 e/, B 1aw, Gemsl 3R udieh! = HarsH 1 3uam

(2) G o foRel weg A1 Tl 39w A 1 STER

(3) Terdl W e A Hewgel A SR 7w

(4) v fusd 37 yrae | UsheH fisl ures &1 3wn

2

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98
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What is a router ?

(1) An Input device

(2) A Storage device

(3) An Output device

(4) A Networking device

T FE ?

(1) T FTIE IH
(2) ek HURU I
(3) T MY A
(4) TF A2EfhT A7
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99

Identify the cybercrime committed with the theft of communication as it is transmitted over a
network by a computer or smartphone.

(1) Hacking

(2) Plagiarism

(3) Cyberbullying
(4) Eavesdropping

T H F] THEHH % 2o T U AR AR HTA HA H HEa I g 7

(1) e

(2) wrEIREH

(3) WER e

(4) AR (SeHEIT)
Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100
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.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

In internet terminology, HTTPS stands for :
(1) Hypertext Transfer Protocol Secure
(2) Hypertext Transfer Protocol Service
(3) Hypertext Transfer Protocol System
(4) Hypertext Transfer Protocol Structure

geTe YgEet § HTTPS (U=ERdmy) o1 0 314 § -

(1) BEARCHIE T Werhel fHar
(2) BRI THE Y2kl Hiay
(3) TEHWHHE THE Ukl foeen
(4) BATRIHIE THAF Tershel 2
Options:-

Question ID:- 101

The value of 6 % = [

1

B | =
00 | =

= | =

Subject : QA_Q101-Q120 _JAO2MARSH2
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.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,
- 4, Option ID :- 404,

61—[51— Eml)—lxéﬂlwgaﬂqﬁ%
8 4 7 2 4 4
w1
D3
1
2 _—
(2) 3
gy L
()
g 1
(4) 1
Options:-

Answer Given:- 2, Option ID : -402

Question ID:- 102

[y 2
(2) 14
(3) 42
(4) 28

('l) 21
(2) 14
(3) 42
(4) 28
Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,
- 4, Option ID :- 408,

The largest number which divides 70, 112, and 217 leaving the remainder 7 in each case is :

Answer Given:- 1, Option ID : -405

Question ID:- 103
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The value of

[(9.852)° + (0.148)* | +1.6

[(9.852)% +(0148% ] +1.5
(9.852)% + (0.148)% — 4 x 2.463 x 0.148

1) 16
2
@ 163
2
® 13
(4) 6

FHA G :

(9.852 )% + (0.148)% — 4 x 2.463 x 0.148

(1) 16
e 2
@ 13
2
@ 13
(4) 6
Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

is:

2 2
The value of (918 —105)° — (918 + 105)

Question ID:- 104

is equal to :
918 x 105
() -2
(2 -4
3) 2
(4) 4

2 2

918 x 105
~ig
-4

3) 2
4) 4
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Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

Which of the following numbers is divisible by 72 ?
(1) ¥580772
(2) 7580768
(3) 7580678
(4 7587072

Trefefed § § Si9-9) e 729 fayss g2
() 7580772

(2) 7580768
(3) 7580678
(4) 7587072

Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 4, Option ID : -420

Question ID:- 106

Working together A, B and C can complete a work in 12 days. All the three worked together for
2 days and then C left. The remaining work was completed by A and B together in 15 days. In
how many days can C alone complete the original work ?

(1) 30
2) 36
(3) 40
(4) 42

T |1 fieret A, B 3R C W% &M i 12 fed H g0 o Fehd € | Tl A fers 2 fea &m forn o7) fist 39
e C 1T BIEHT Fell TAT1 99 FHH H A IR B A faeet 15 fe7 § g fFan) C sehen omfve m &1
foper fem & qu o Tehar &2

(1) 30

(2) 36
(3) 40
(4) 42
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Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107

A and B can together complete a work in 30 days. They worked together for 20 days and then B
left the work. Then, remaining work was completed by A alone in next 20 days. Then, A can
alone finish the whole work in :

(1) 66 days
(2) 60 days
(3) 54 days
(

4) 48 days

A 3R B foere ferell s 130 fe # 0 o2 Hehd 8 1 314 faeret 20 fe7 v foran aen fr B =6 o
T | 9@, o9 R SR A T 3T 20 T | U o fomn | @, A stehdd 39 |l S ki Tk faq | &

Tl B 7

(1) 66 fea
(2) 60 feA
(3) 54
(4) 48 feA
Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

- 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

The average weight of certain children in a group is 47.5 kg. When 3 children of average weight
55 kg join the group and seven children of average weight 45 kg leave the group, then the average
weight of the children in the group increases by 2 kg, What was the number of children, initially
in the group ?

(1) 22

(2) 24
(3) 26
(4) 30
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T TE H F9 =l 6l 3T WK 47.5 kg ¥ | 579 ST 91 55 kg 161 9 SR 9= 9e | Affd € s €
R 3THd 9K 45 kg 161 910 oo HYE %1 BIS ad o, a9 T8 H o=l 1 3Ed IR 2 kg &6 S0 8 | 598 |

HRY ¥ for =4 97
(1) 22
2) 24
(3) 26
(4) 30
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

- 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

Question ID:- 109

Average of the marks obtained by 8 students is 55. Later on, it was found that one of the students
mark 62 was misread as 26. The correct average is :

(1) 625
(2) 595
(3) 545
(4) 505

8 ferenfei=i gr1 wre ferw 10 Skl =1 o719 55 % | 9% 1, S g1 1o Ueh farensdl & i 62 %1 TTerdl 9 26 9a
T | R S ©

(1) 625
(2) 59.5
(3) 54.5
(4) 50.5

Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

In an examination, a student secures 205 marks and fails by 5 marks. If the minimum passing
marks are 35%, then the maximum marks of the examination are :

(1) 900
(2) 600
(3) 450
(4) 300
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forelt wdten 9, wek fanedl 3 205 &i% urwt e iR &8 5 sl € %e &1 ) Afe 9 89 % fog, =1 35%
3iep ¥, dl 39 udten & sAfrepan o €

(1) 900
(2) 600
(3) 450
(4) 300

Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111

40% of the candidates in an examination were girls. If 65% of the girls passed and 350 girls failed
in the examination, then what was the number of total candidates in the examination ?

(1) 3500

(2) 3200
(3) 2800
(4) 2500

ot wlien % wenforl § 40% @l off | 9fg 65% efwar u g€ a2 350 @frar el g, O 39 Then
T e Yenferi sl HEA = o 2

(1) 3500
(2) 3200
(3) 2800
(4) 2500
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

« 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

Avin sold a fan to Amit for ¥ 4000 at a loss of 20%. Amit sold it to Charu at a price which would

have given Avin a profit of 12%. If Charu sold it for I 6356, then what was the percentage profit
earned by Charu ?

(1) 12%
2) 125%
(3) 13.5%
(4) 14%
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e A 20% =i 81 T T @ 1 i T 4000 H o= | HAHd 7 39 9% FH 3H oI W 9= 59 ge W
sAfe =ife =9 S, o 39 12% o oy B 1 AfE =% A 98 31 T 6356 H &9 7, df 9% &1 fhad wfave g
7 ?

(1) 12%

2) 125%
3) 13.5%
)

4) 14%

(
(
(
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113

Naresh bought an article for ¥ 60000 and sold it at a loss of 20%. With the amount received from
it, he bought another article and sold it at a proﬁt of 25%. What was his gain or loss in the whole
transaction ?

(1) Loss of ¥ 12000
(2) Gain of ¥ 12000
(3) Gain of ¥ 2400
(4) No profit no loss

T T 7 T 60,000 H TG SR H 20% @ R SF oA | IHE W6 40 ¥, I Th 7 a5
e 3R S8 25% oY W o foan | 39 Gie § SHeR oiel A =i 923 6 2

(1) T 12,000 =1fA
2) ¥ 12,000 &9
3

(

(3) T 2400 14

(4) =S Y A A T
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452

Question ID:- 114
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Ages (in years) of A and B are in the ratio 7 : 6 and the sum of their ages is 78 years. After 10 years,
the ratio of their ages will be in the ratio :

(1) 47:42
(2) 26:23
(3) 42:47
(4) 23:18

A SR B %! g (Sl #) o1 STU 7: 6 T 9T STeh! 3T 1 40T 78 94 & 1 10 ! & =€, bt o1 e

ST H EF
(1) 47:42
(2) 26:23
(3) 42:47
(4) 23:18
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115

Alloys A and B contain zinc and copper in the ratio 1:3 and 7 : 2, respectively. In what ratio A
and B be mixed to get a new alloy C in which the ratio of copper and zincis1:2?

(1) 4:11
2 1:4
(3) 4:15
(4 3:8

Togerg A TR B # ST& iR sl & 7T SFHST: 1:3 31X 7: 281 A 3R B &1 fofm s1gam | faern s, fad
o 59 yer o+ 7€ fogreng € o arel iR S 1 I 1: 2/ ?

(1) 4:11
(2) 1:4
(3) 4:15
(4) 3:8

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116
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At a certain rate of simple interest, a sum of money amounts to ¥ 28320 in 3 years and to T 31200
in 5 years. The sum of money is :

(1) T 21000
(2) T 24000
(3) T 25000
(4) T 28000

YR =4S Skt fohdt 88 W1, g o0 3 99 § T 28,320 B Al § 991 599 ° T 31,200 @ W &1 9%
H:IT@T%:
(1) T 21000

(2) T 24000
(3) T 25000
(4) I 28000
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
« 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462

Question ID:- 117

A sum of money doubles itself at a certain rate of compound interest (compounded annually) in 5
years. In how many years will it become 16 times of itself at the same rate of compound interest ?

(1) 20 years

(2) 25 years
(3) 30 years
(4) 36 years

Fré RIS forelt =ergfs = #it X @ (A Tafsa), 5 aui § @ %1 gt @ o ® 1S Swefs =
HI X W, 97 fomer ad | T &Y 16 T 2 ST 2

(1) 20 =W
(2) 2594
(3) 30 o
(4) 36 =W
Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465
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Question ID:- 118

Two equal amounts were invested respectively at the rates 15% and 18 % per annum simple interest.
If the total annual interest on these equal amounts is T 3300, then each of these equal investment

is:

(1) T 6000
(2) ¥ 7500
(3) ¥ 10000
(4) T 12000

B A FUREN HE9: 15% 307 189% aftier HIER =415 i et W FHafed i 721 3fe =1 gam sAufyE
TR e A =TS T 3300 U B ©, A Fedsh A i €

(1) T 6000
(2) T 7500
(3) T 10000
(4) < 12000
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

A 120 m long train crosses a 155 m long platform in 22 seconds. The speed of the train
(in km/hour) is :

(1) 36
(2) 45
(3) 48
(4) 54

Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474
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Question ID:- 120

(1) 45
(2) 3.6
3) 1.5
(4) 1.8

o) &M ?
(1) 4.5
(2) 3.6

(3) 1.5

(4 1.8
Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,
. 4, Option ID :- 480,

1
A man rows 750 m against the stream in 11— minutes and returns downstream to the starting

point in 7% minutes. How much time (in hours) will the man take to row 18 km in still water ?

s AT Wek A1d H YR F Wfdshet 750 m 1 g 11% o T & 3 € 3T 361 #4119 W) 76 51 7%ﬁq=|z
T YW T STFA aIH 3 S ¢ | 3 AR i feer 5t ° 7919 ¥ 18 km 1 g 7 F H TR v (6

Answer Given:- 2, Option ID : -478

4
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